Haigazian University

CSC 240

Assignment 1

Due Mon Oct 17, 2011 11:00am
1- You have a program that is compiled on your computer and has exactly 10,000 instructions. Your Computer has an overall CPI of 1.3 and is running at a clock
rate of 600MHz. Calculate the execution time for this program when executed 
on your computer.







(5 pts)
2- What is the decimal value of (11010) in each of the following system:
(5 pts)

a- Regular binary system (base 2) (ex. 0101 is 5)

b- 6-4-2-1 weighted code system

c- 5-bit word Sign and Magnitude system

d- 5-bit word 1's Complement system 

c- 5-bit word 2's Complement system

